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QUESTION 1

You want to prevent a single point of failure in your underlay network. Which two protocols would be used to accomplish
this task? (Choose two) 

A. LACP 

B. VSTP 

C. MC-LAG 

D. RSTP 

Correct Answer: AC 

 

QUESTION 2

Which two protocols would be used by the NorthStar controller to provision tunnels on an edge router? (Choose two) 

A. TFTP 

B. PCEP 

C. NETCONF 

D. HTTPS 

Correct Answer: BC 

 

QUESTION 3

Which protocol is used by the NorthStar Controller to discover existing tunnels in a service provider or large enterprise
WAN? 

A. SNMP 

B. PCEP 

C. REST 

D. NETCONF 

Correct Answer: BD 

 

QUESTION 4

Which two protocols are used in a Contrail system to exchange routing information? (Choose two) 

A. XMPP 
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B. BGP 

C. OSPF 

D. IS-IS 

Correct Answer: AB 

 

QUESTION 5

Which statement is true about NFV containers? 

A. NFV containers usually provide fewer functions than VM-based NFs 

B. NFV containers require an underlying hypervisor for deployment 

C. NFV containers take longer to instantiate than virtual machines 

D. NFV containers require more memory and storage resources to deploy 

Correct Answer: A 

 

QUESTION 6

What are two characteristics of cloud computing? (Choose two.) 

A. customer-owned equipment 

B. measured service 

C. resource pooling 

D. unrestricted public access to all resources 

Correct Answer: BC 

 

QUESTION 7

What are two characteristics of cloud computing? (Choose two.) 

A. Services are provisioned using automation. 

B. Services are provisioned by the customer. 

Correct Answer: AB 

 

QUESTION 8

Which two hypervisors does the vMX support? (Choose two) 
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A. KVM 

B. xen 

C. ESXi 

D. Hyper V 

Correct Answer: AC 

 

QUESTION 9

Which two statements are true about an SDN controller? (Choose two.) 

A. An SDN controller automates repetitive tasks in a network 

B. An SDN controller regulates traffic transmission rates in a network 

C. An SDN controller centralizes control and configuration of a network 

D. An SDN controller stores and manages software mages 

Correct Answer: AC 

 

QUESTION 10

Which OpenStack component is responsible for user authentication and authorization? 

A. Glance 

B. Nova 

C. Keystone 

D. Neutron 

Correct Answer: C 

 

QUESTION 11

A customer wants to provide advanced Layer 4 through Layer 7 security services for a VMware NSX 

microsegementation deployment. 

Which platform would you recommend using in this scenario? 

A. ACX Series 

B. vMX Series 

C. vSRX Series 
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D. QFX Series 

Correct Answer: C 

 

QUESTION 12

What are two goals of cloud security automation? (Choose two) 

A. to centrally manage security policies 

B. to transition all security functions to cloud platforms 

C. to automate responses to detected security threats 

D. to implement all security functions in hardware 

Correct Answer: AC 

 

QUESTION 13

Which method does WANDL use to collect live network information? 

A. FTP 

B. SOAP 

C. TFTP 

D. SNMP 

Correct Answer: D 

 

QUESTION 14

You must set up multiple collection points across your network to look for malware and rogue SSH 

attempts. 

What will allow you to accomplish this task? 

A. AppFormix 

B. NorthStar 

C. networking 

D. JATP 

Correct Answer: D 
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QUESTION 15

Which message type is supported by the Junos Telemetry interface? 

A. GPB 

B. OpenShift 

C. JET 

D. YANG 

Correct Answer: A 
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